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. Ophimraabion — Example — cost of gerap iron
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We. an... gelve For the minimum. +otal . cogt. .. by ..
.us‘m3 ._jmd]_en‘t . desceat, .

A gheel dompany wizhes to... hake hst iron. From
melted Ferap. Th <y have varioug types of Serap
to choose  From, and they wish 4o mimmize costs.

Let +the amounts of S¢rap  be x

The cost 3 Q= €, X+ + CaXpe

177 Xha

Each type of Bcrap dontains di-f-ferinj amounts
of alloys such as Fhosphorons  or Sili¢on and
Carbon. When we Cdombine the Sovp we can
Caleulate  the context of Sabstences by ..., by,
b, = qQ,x, +..T qm%

bH = Ay, X, Fot Ay, X,

There is an ideal chemistry (b, .., bp)=(5,.,5,)

The cost of Miﬁ,s:'nﬂ “he cideal dtt:ui:ré?' /s
appro x/ma tely

X S
Copeny =  RiCBi=b) + ..+ feo(8a-bn)

Do the Lotal st g cet € chenm
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